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mH: S225
el SEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al ZERIAREAY| 1,300 1,300 0
NERHASOIE 2% APEA
1,300,000 1,300
405 KHoHFSH| 7,000 4,000 3,000
01 ML ESFSHI 7,000 4,000 3,000
NRACIAIRA WS &I, d28 S
7,000,000& 7,000
220 S43t 160,000 99,000 61,000
= 32,000
Al 64,000
- 64,000
307 21201 & 160,000 99,000 61,000
= 32,000
Al 64,000
- 64,000
05 212t =S 160,000 99,000 61,000
12020l SE3HTNR) AHS
200,000 *800= 160,000
= 32,000
Al 64,000
- 64,000
FHAANE erAS=E N2 AL 48,000 26,000 22,000
Al 24,000
- 24,000
301 22N 48,000 26,000 22,000
Al 24,000
- 24,000
14 JIEt2 8= 48,000 26,000 22,000
Neelsd S=8¥ A 40,000,000 40,000
Al 20,000
- 20,000
Neelsul HASA X ALY
40,0002 «202 =100t 2| 8,000
Al 4,000
- 4,000
OFd FIIA(SH) 2= 24,300 16,200 8,100
Al 11,200
T 13,100
201 er23| 1,600 1,500 100
01 At2teltl 1,600 1,500 100
NRXES, 222 NH S 1,600
)PE2E, ESEUl S 600,000 600
2822 WA S 1,000,000& 1,000
203 gF=4| 300 300 0
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el 22| (el &e)
Za - S9I(3) - MIRAES A HIDEZ
H=NH R 300 300 0
1SN =& 22| gRFA 300,000 300
307 2I2t01 & 22,400 14,400 8,000
Al 11,200
- 11,200
05 212+ =S 22,400 14,400 8,000
DEXES 800,000& 285 22,400
Al 11,200
- 11,200
et K& 750 0 750
= 375
Al 187
- 188
BEN= 750 0 750
= 375
Al 187
- 188
4 IIE2d=s 750 0 750
meRIIS=S L8 X&
150,000& %50t 2| 750
= 375
Al 187
- 188
HH =S 3 190,955 128,560 62,395
I 2HHI(XIZ D) 100,775 43,034 57,741
I 2H(XISZ D) 100,775 43,034 57,741
101 @124H| 100,775 43,034 57,741
02 JIEtME = 100,775 41,406 59,369
DAIRZHIENRIZDIH 2t (3BAI12E) 52,603
)HSHN 2,965,830 1 »12&+1.025 36,357
2)8nAsS
58,026,000 8%+ (35A12t/40A1 2H) 12 x1.025
4,164
2)FAZ A 140,0003 * 12 1,680
) ]
2,955,830 *(40A1 2H/35 A1 24) +B4%+5+ 122 1.0
25 1,746
A2t 2244
10, 1622 #40 A 2+ x 1B 122 %1.025 5,000
AL A
2,955,830_4*84%*86%*1/30*1/7*105/\|3*1.025
1,095
2E8= 2,561
J)AHAEE 1,851,000& 1,851
JEILEE 239,700 240
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B sE2oAY|
Sel: QIE2HHI(XLZ M) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JNEEEE 470,000 470
DARIEEI R DI 0 (35A124) 44 444
2)HSEHNM 2,400,000 «1E 122 28,800
2)dnAs
49,339,000 6%+ (35A1 2+ /40A12+) 12 %1.025
2,6%
2= 120,000& x1&* 123 1,440
2)Z UG Al 140,000 x 12 * 12 1,680
SR E 1,578,000& 1,578
DAt 2R
9,6203*30AI 2H* 1B 122 %1.025 3,550
2)AItE ]
2,400,000 +84%+86%*1/30% 1H+91 Al 24+1/7 752
2)E8= 3,988
3)AHLEE
3,100,000 « 1E « 122 +3.545% 1,319
3)FIeLZH 1,708,100 1,709
JNELE 80,0002 x1&x 12 960
DEELESE 3,728
D)NBBELI (AR LIIF 2+2)
180,000+ (35A12H/40A1 2} )« 122 1,890
2)XSEXHI(AIFEEHMEIIH OFS)
175,000 % (35A12H/40A124 )« 122 1,838
[2ZH(XISZ D) 90,180 85,526 4,654
J|22HI(XIEZH D) 90,180 85,526 4,654
201 er23| 46,260 43,622 2,638
01 AtR2t2|HI 45,760 43,622 2,138
DEESINES=2=1 10,0002 x20 & %42 800
1A MAL M= 1203 %5,000& 600
)& DE HMZH 2003 #5,0002 1,000
Neld 3lalg S5 M 1002 +5,000& 500
NEME2T 7 50,0002 «6&F Xt 300
NZoely |Xztell
200,000 *2CH*43] 1,600
NSADI EH 7Y S |AlZel
300,000& x2LH*42] 2,400
NSRAMI M= 1,000,000 *45 4,000
NJl=2geFa3 |
8,000 x202 204! x 12 x90% 34,560
02 s3=ghl 500 0 500
NNSKLRES(433])
500,000 12 500
202 04l 40,320 38,304 2,016
01 =LHA LI 40,320 38,304 2,016
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S©elr J12ZH(XLZ /) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIl1E2gRFa 0|
20,0003 x202 142 %123 »60% 40,320
203 =] 3,600 3,600
MU FA2HLIRFLI 3,600 3,600
1)202! 0I5 300,000 * 12 3,600
Hegs(XAZH ) 1,100,000 0 1,100,000
SHeHXIE 1,100,000 0 1,100,000
SMIYFHII=s dE=2 1,100,000 0 1,100,000
®RIIsdES 1,100,000 0 1,100,000
01 IIsdES 1,100,000 0 1,100,000
NESAJE84II3 dE=
1,100,000,000& 1,100,000




